Efficiency vs P,

+0.05 T T
2 : : :
D.045F-++eeereieeeees B e
> . N N
2 0.04F - -c-eeeneieee e Beeeeeeennd e
o : : :
.03+ frbeeeeee R RRIE e
0] N N N
0.03F oo fiereereeens B RPN
0.025F -+ ogdieeeeeeens e o
0.02F-+---ff{-iveemereeeene Feeeeeeeeen e
0.015F - 4 oo o S
0.01 - h 4o S S

0005+ -4+ di-eeeeeeeee R e
P T | R TTY B R TTT B R T
q - ; :

Ratio

—s=— DQM_mkFit_baseline_lowPT
—e— DQM_mkKFit_baseline6iter_lowPT
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

= 0.2
) S T I
R S S A
I : : : : :
TR S A A A
S : : : : :
o e S R S
o : : : : :
R i £ 3 RER LIS I S
e
0.08ff oo g e
0.06fF 5| -

004l i it
Y| S |

AP A I AP P A 1
o Q=3 1 ;1% Ep
= ;
= : : : 1 ]
o : : : ] .
0.8[fr =+ S B | 114
0 B GO | 4 | O O 1|4 O

Efficiency vs ¢

s 0.1
4
20.09
2
) 0.08]
(S}
£0.07
(]
0.06]
0.05
0.04
0.03]
0.02
0.01

1.0

Ratio

L L L A LN B DL IR LR BN BB DR RN LR

w
|
N
|
[N
oF———
[N
N
w



	Contents
	Page 1


